PO 167428 DMS REC 644468



Mr. Guy Matula

September 14, 2022

Fort Bend County Engineering

Project #'s Mobility 2017

301 Jackson St Richmond, TX 77469

Invoice #'s 336914, 336915, 336917, 336913, 336916

Due Date October 28 2022

PO# 167428

Combined Invoice Total \$14,320.51

PO #167428/2017 - Professional Services Period: August 1, 2022 to August 30, 2022

Percheron #	FBC Project #	2017 Mobility Project Name	Current Invoice Amount
05.004808.0000	17313x	McCrary Rd - Drainage	\$135.00
05.005439.0000	17303	SH 99 - Phase 1	\$226.51
05.101519.0000	17304	SH 99 – Phase 2	\$13,756.50
05.000520.0000	17314X	Cinco Ranch TL	\$ 112.50
05.005816.0000	17307	Peek Road	\$ 0.00
05.006710.0000	17325x	Hunt Road	\$ 0.00
05.006831.0000	17320x	Fry Rd	\$90.00
		Total Current Invoice	\$14,320.51

Contract Summary

Invoicing Limits	Current	Prior Invoices	Total to Date
Total Invoiced	\$14,320.51	\$362,009.76	(376,330.27)
Total Contract Amount			\$448,245.00
Remaining Funds Available		_	\$ 71,914.73

Project Summaries

Project	Current Invoice	Total Prior Invoices	Total Invoiced to Date
McCrary Road	\$135.00	\$229,327.13	\$229,462.13
SH 99	\$226.51	\$ 78,567.50	\$78,794.01
SH 99	\$13,756.50	\$0.00	\$13,756.50
Cinco Ranch TL	\$ 112.50	\$28,398.16	\$28,510.66
Peek Road	\$ 0.00	\$11,896.29	\$11,896.29
Hunt Road	\$ 0.00	\$9,419.56	\$9,419.56
Fry Rd	\$ 90.00	\$4,401.12	\$4,491.12
	\$14,320.51	\$362,009.76	\$376,330.27



Project No: 05.004808.0000

Invoice No: 0336914

Due Date: October 28, 2022

PO / WO / AFE: 167428

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total \$135.00

Project 05.004808.0000 Project# 17313X - McCrary Road PO: 167428/2017 Mobility

Professional Services from August 1, 2022 to August 31, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager				
Kaplan, Arlene	1.5	90.00	135.00	
Total Labor				135.00
Billing Limits	Current	Prior	To-Date	
Total Billings	135.00	229,327.13	229,462.13	
Total Contract Amount			265,150.00	
Remaining Funds Available			35,687.87	
		Total this	Invoice	\$135.00

Outstanding Invoices

Number	Date	Balance
0335551	8/15/2022	840.00
Total		840.00

	Current Invoice	Prior	Invoiced To Date
Labor	135.00	151,176.25	151,311.25
Appraisers	0.00	72,000.00	72,000.00
Expense	0.00	4,350.88	4,350.88
Unit	0.00	1,800.00	1,800.00
Totals	135.00	229.327.13	229.462.13

Project 05.004808.0000 FBC - Proj#17313x - McCrary Rd PO167428 Invoice 0336914

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.004808.0000 - FBC	- Proj#17313x	- McCrary	Rd PO16	7428 0001	.02 - Parcel	P01-E Pro	duction an	d Procurer	nent 100.0	000 - Proje	ct Managen	nent			
Kaplan, Arlene	1.500	135.00													135.00
Total 100.000:	1.500	135.00													135.00
Total 0001.02:	1.500	135.00													135.00
Total 05.004808.0000:	1.500	135.00													135.00
Invoice Total:	1.500	135.00													135.00

Project 05.004808.0000 FBC - Proj#17313x - McCrary Rd PO167428 Invoice 0336914

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Kaplan, Arlene																
8/2/2022	1.000	90.00	90.00													90.00
Work Detail	Cleaning u	p conclud	ing documer	nts for clos	ing the file.	Closing occi	urred and v	vaiting for r	ecorded dee	ed and title p	oolicy					
8/5/2022	.500	90.00	45.00													45.00
Work Detail	work with	title compa	iny wrapping	up docs f	or closing o	ut project an	d delivery	to FBC								
Total Kaplan, Arlene:	1.500		135.00													135.00
Invoice Total	1.500		135.00													135.00



Project No: 05.005439.0000

Invoice No: 0336915

Due Date: October 28, 2022

Guy Matula

Fort Bend County

301 Jackson Street

Richmond, TX 77469

Invoice Total \$226.51

Project 05.005439.0000 Project# 17303 - SH 99

<u>Professional Services from August 1, 2022 to August 31, 2022</u>

Professional Personnel

	Quantity	Rate	Amount	
Project Manager				
Kaplan, Arlene	2.0	90.00	180.00	
Total Labor				180.00
Reimbursable Expenses				
Postage			46.51	
Total Reimbursables			46.51	46.51
Billing Limits	Current	Prior	To-Date	
Total Billings	226.51	78,567.50	78,794.01	
Total Contract Amount			110,100.00	
Remaining Funds Available			31,305.99	

Total this Invoice \$226.51

Outstanding Invoices

 Number
 Date
 Balance

 0335552
 8/15/2022
 429.20

 Total
 429.20

•	Current Invoice	Prior	Invoiced To Date
Labor	180.00	67,890.00	68,070.00
Appraisers	0.00	9,870.00	9,870.00
Expense	46.51	807.50	854.01
Totals	226.51	78.567.50	78.794.01

Project 05.005439.0000 FBC - Project# 17303 - SH 99 Invoice 0336915

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.005439.0000 - FB	C - Project# 17	303 - SH 99	0000.02	- Producti	on and Pro	curement	100.000 -	Project Mai	nagement						
Kaplan, Arlene	2.000	180.00													180.00
FedEx												46.51		46.51	46.51
Total 100.000:	2.000	180.00										46.51		46.51	226.51
Total 0000.02:	2.000	180.00										46.51		46.51	226.51
Total 05.005439.000	0: 2.000	180.00										46.51		46.51	226.51
Invoice Total:	2.000	180.00										46.51		46.51	226.51

Project 05.005439.0000 FBC - Project# 17303 - SH 99 Invoice 0336915

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Kaplan, Arlene																
8/5/2022	.500	90.00	45.00													45.00
Work Detail	Working w	ith title co	to get all fina	al docs for	delivery to	FBC										
8/10/2022	1.500	90.00	135.00													135.00
Work Detail	Inventorie	d all deeds	and title pol	icies and	packaged fo	or FBC delive	ery.									
Total Kaplan, Arlene:	2.000		180.00													180.00
FedEx																
8/11/2022													46.51		46.51	46.51
AP Detail	Fed Ex Sh	ipping														
Total FedEx:					-	-							46.51		46.51	46.51
Invoice Total	2.000		180.00										46.51		46.51	226.51

FedEx

Original Customer Reference	POD Delivery Date	Recipient Name	Recipient Company	Recipient Address Line 1	Recipient City	Shipper Name	Shipper City	Net Charge Amount
05.005439.0000 FBC - Project# 17303 - SH 99	20220727	Brenda Frey or Stephanie Stigant	Fort Bend Title Co.	407 Julie Rivers Dr.	SUGAR LAND	Arlene Kaplan	SPRING	\$22.36
					05.005439.0000			

SH 99

Ft. Bend County

FedEx \$22.36 \$22.36

Prospect:

Description: Amount:

Client:

FedEx

Original Customer Reference	POD Delivery Date	Recipient Name	Recipient Company	Recipient Address Line 1	Recipient City	Shipper Name	Shipper City	Net Charge Amount
05.005439.0000 FBC - Project# 17303 - SH 99		Arlene Kapla	n Percheron LLC	20010 Cypresswood Spgs	SPRING	Brenda Frey or Stephanie Stigant	SUGAR LAND	\$24.15

05.005439.0000 SH 99

\$24.15

Prospect:

Client: Ft. Bend County Description: Amount: FedEx

\$24.15



Project No: 05.101519.0000

Invoice No: 336917

Due Date: October 13, 2022

Ike Akinwande Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total \$13,756.50

Project 05.101519.0000 SH 99 Phase 2 - #17304 <u>Professional Services from August 1, 2022 to August 31, 2022</u>

Professional Personnel

	Quantity	Rate	Amount
Document Specialist Kingsbury, Tina	2.0	65.00	130.00
Tucker, Sharon	8.0	65.00	520.00
Project Manager Kaplan, Arlene	14.75	90.00	1,327.50
ROW Agent Senior Miller, Rhia	37.0	75.00	2,775.00

Total Labor 4,752.50

Reimbursable Expenses

Other Expenses 9,004.00

Total Reimbursables 9,004.00 9,004.00

Total this Invoice \$13,756.50

	Current	Prior	Total
Labor	4,752.50	0.00	4,752.50
Appraisals	9,000.00	0.00	9,000.00
Expense	4.00	0.00	4.00
Totals	13.756.50	0.00	13.756.50

Project 05.101519.0000 FBC-SH 99 Phase 2 Invoice 336917

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
05.101519.0000 - FBC-SH	H 99 Phase	2 0000.02	- Produc			•		_			,		,		
Kaplan, Arlene	14.750	1,327.50													1,327.50
Valbridge Property Advisors													9,000.00	9,000.00	9,000.00
Total 100.000:	14.750	1,327.50											9,000.00	9,000.00	10,327.50
05.101519.0000 - FBC-SH	H 99 Phase	2 0000.02	- Produc	tion and Pro	ocurement	101.000 -	Project Su	upport							
Expense, General													4.00	4.00	4.00
Total 101.000:													4.00	4.00	4.00
05.101519.0000 - FBC-SH	1 99 Phase	2 0000.02	- Produc	tion and Pro	ocurement	101.LAD	- Project S	Support-LAD)						
Kingsbury, Tina	2.000	130.00													130.00
Total 101.LAD:	2.000	130.00													130.00
05.101519.0000 - FBC-SH	1 99 Phase	2 0000.02	- Produc	tion and Pro	ocurement	150.000 -	- Acquisitio	ons							
Miller, Rhia	37.000	2,775.00													2,775.00
Total 150.000:	37.000	2,775.00													2,775.00
05.101519.0000 - FBC-SH	1 99 Phase	2 0000.02	- Produc	tion and Pro	ocurement	150.LAD	- Acquisiti	ons-LAD							
Tucker, Sharon	8.000	520.00													520.00
Total 150.LAD:	8.000	520.00													520.00
Total 0000.02:	61.750	4,752.50											9,004.00	9,004.00	13,756.50
Total 05.101519.0000:	61.750	4,752.50											9,004.00	9,004.00	13,756.50
Invoice Total:	61.750	4,752.50											9,004.00	9,004.00	13,756.50

Project 05.101519.0000 FBC-SH 99 Phase 2 Invoice 336917

PERCHERON INVOICE DETAIL

Date	QTY	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
05.101519.0000	- FBC-SH	99 Phase 2	0000.02 -	Productio		curement	100.000 - Pr	oject Mar	agement						-	
Kaplan, Arlene																
8/8/2022	2.500	90.00	225.00													225.00
Work Detail	Modified t	he Mobility	2017 budge	et to provide	e for the a	dditional parc	els in on SH	l 99 Phase	2. Establish	ned project i	n Vantagel	Point for age	ent reporting	g; checked wi	th appraisal	and title for
8/9/2022	informatio 1.250	n and appr 90.00	l fees. 112.50													112.50
Work Detail				t nronarties	· nrenarat	on of form le	tters for Rhi	a to start n	renarina Inti	ro Latters ar	nd IOI e :					112.50
8/16/2022	.750	90.00	67.50								·					67.50
Work Detail				ndings for	contacts -	trying to get i	names for n	aw owners	hin and oth	ar narcals						07.50
8/17/2022	.750		67.50													67.50
Work Detail				sion to helt	n locate n	erson in char	ne for 101 1	02 and 1	13							07.00
8/18/2022	.250	90.00	22.50						·							22.50
Work Detail				She has t	three aoo	d names for t	he contacts	and will m	neet annrais	er on site M	onday					22.00
8/22/2022	1.000	90.00	90.00								·					90.00
Work Detail				ith Rhia and	d Jason a	ter site visit;	sent out ema	ails to Cou	ntv and Kev	in Mineo.						00.00
8/23/2022	4.250		382.50													382.50
Work Detail				e dav in dise	cussion w	th Cody Bath	ne. Michael I	Kasper, FE	BC Planning	and the ap	oraiser for I	P101. Also	in discussio	n with the ap	oraiser about	
	103.															
8/24/2022	.500	90.00	45.00													45.00
Work Detail			regarding p	olacement o	of wall on	102. 										
8/25/2022	.500		45.00													45.00
Work Detail				ninary revie	w and ser	it it to Guy for	r review and	determina	tion of Just 	compensati	on. · ·					
8/26/2022	1.000	90.00	90.00	01	- (400	h - - £ - 1 - 4 -		l 0	- (FDO							90.00
Work Detail				ОL раскад ·	e for 102;	hold for dete	rmination of									
8/29/2022	1.250		112.50				FDO:	:	NI	h - f :11						112.50
Work Detail				ust Comp a	and appra	sal review fro	om FBC; rev	ew final IC	⊃L package 	before maili	ng · ·					
8/31/2022	.750	90.00	67.50		· · · · ·											67.50
Work Detail		103 IOL pa	ckage prior	to preparat	tion of fina	I раскаде										4 00= 50
Total Kaplan, Arlene:	14.750		1,327.50													1,327.50
Valbridge Prop	erty Advis	ors														
8/31/2022														9,000.00	9,000.00	9,000.00
AP Detail	Appraisal	Fee SH 99	Phase 2 - F	P 103												
Total Valbridge	•													9,000.00	9,000.00	9,000.00
Property Advisors:																
Total 100.000:	14.750		1,327.50											9,000.00	9,000.00	10,327.50
05.101519.0000	- FBC-SH S	99 Phase 2	0000.02 -	Productio	n and Pro	curement 1	101.000 - Pr	oject Sup	port							
Evnonco Gono	vral															
Expense, Gene																
8/8/2022														4.00	4.00	4.00
	,													4.00	4.00	4.00
Total Expense, General:																4.00
														4.00	4.00	
General: Total 101.000:	- FBC-SH	99 Phase 2	0000.02 -	Productio	n and Pro	curement	101.LAD - P	roject Su	pport-LAD					4.00	4.00	
General:		99 Phase 2	0000.02 -	Productio	n and Pro	ocurement 1	101.LAD - P	roject Su	pport-LAD					4.00	4.00	
General: Total 101.000: 05.101519.0000 Kingsbury, Tin	a 			Production	n and Pro	curement 1	101.LAD - P	roject Su	pport-LAD					4.00	4.00	65.00
General: Total 101.000: 05.101519.0000 Kingsbury, Tin	a 1.000	65.00	65.00					roject Su	pport-LAD					4.00	4.00	65.00
General: Total 101.000: 05.101519.0000 Kingsbury, Tin 8/29/2022 Work Detail	a 1.000 08/29/202	65.00 22 - Tina Kir	65.00 ngsbury - FB			P102 for ma		roject Su	pport-LAD					4.00	4.00	
General: Total 101.000: 05.101519.0000 Kingsbury, Tin 8/29/2022 Work Detail 8/30/2022	1.000 08/29/202 1.000	65.00 22 - Tina Kir 65.00	65.00 ngsbury - FB 65.00	3C SH-99 -	Preparing	P102 for ma	 illing 	roject Su	pport-LAD					4.00	4.00	65.00 65.00
General: Total 101.000: 05.101519.0000 Kingsbury, Tin 8/29/2022 Work Detail	1.000 08/29/202 1.000	65.00 22 - Tina Kir 65.00	65.00 ngsbury - FB 65.00	3C SH-99 -	Preparing		 illing 	roject Su	pport-LAD					4.00	4.00	
General: Total 101.000: 05.101519.0000 Kingsbury, Tin 8/29/2022 Work Detail 8/30/2022 Work Detail Total Kingsbury,	1.000 08/29/202 1.000 08/30/202	65.00 22 - Tina Kir 65.00	65.00 ngsbury - FE 65.00 ngsbury - SH	3C SH-99 -	Preparing	P102 for ma	 illing 	roject Su	pport-LAD					4.00	4.00	65.00
General: Total 101.000: 05.101519.0000 Kingsbury, Tin 8/29/2022 Work Detail 8/30/2022 Work Detail Total	1.000 08/29/202 1.000 08/30/202	65.00 22 - Tina Kir 65.00	65.00 ngsbury - FE 65.00 ngsbury - SH	3C SH-99 -	Preparing	P102 for ma	 illing 	roject Su	pport-LAD					4.00	4.00	65.00

		10131	9.0000	' '		99 Ph		I from August 01, 2022 to August 31, 2022				1(1)	voice	- 33	6917		
Date	QTY	Rate	Total Labor	Miles	Amt (Miles x	Lodging		Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total	
5.101519.0000	- FBC-SH	99 Phase 2	! 0000.02	- Productio	Rate) on and Pro	curement	150.000 -	Acquisition	s								
Miller, Rhia																	
8/8/2022 Work Detail	2.000 Discusses	75.00	150.00 a dtiw clict		aar Bayia	wad ald title	aammitma	nto: roviowo	d latest surve	vo Emoilo	41 VD DO	CS to roque	ot contact in	oformation for	r owners of 2	150.0	
8/9/2022				mation to a					d latest surve					·		3H 99 112.5	
Work Detail					parcels; for	warded to L	AD-DOCs f	for preparation	on.								
8/15/2022	1.000	75.00	75.00													75.0	
Work Detail	P101 - rev	viewed upd	ated title co	ommitment;	researche	d phone nui	mber for co	ntact person	; called and le	eft message	e.P102 - re	searched pl	none numbe	er for contact	person;		
8/16/2022	2.000	75.00	150.00													150.0	
Work Detail	message. P103 - Me	P102 -Seve eadows Ma	en Meadow rketplace S	s Communi Shopping Ce	ity Associa enter - calle	tion - resea d leasing a	rched conta gent who pr	ct number for rovided nam	I call from con or community e of general c	association ounsel and	n; called a	nd left mess manager an	age for com	munity assoc	ciation repres		
0/47/2022	general co		forwarded 300.00		CS to prepare	are and sen	d package.	Forwarded	contact inform	nation and I	phone nun	nber to appr	aiser.				
8/17/2022 Work Detail					sage, sent	amail: Race	licma havi	form local re	presentative v	with mailing	addrace.	nrenared in	formational	letter and em	nailed to I AD	300.0 -DOCS to	
8/18/2022				epresentati					repared inforr							225.0	
Work Detail	P101, P10		work on ne	gotiation log	gs. 												
8/22/2022	3.000		225.00													225.	
Work Detail					raiser. PM 	Meeting - d	iscussed pr	oject with Ar	lene. 								
8/23/2022 Work Detail		02, P103 -		gotiation log					aisal site inspe th Arlene and								
8/24/2022		site inspec 75.00														225.	
Work Detail				Ls and dee	ds. P103 -	reviewed u	odated title	commitment	t and title supp	port docum	ents.						
Work Detail	1.500 P101 - en appraisal.		112.50 cott Werne		rmine appro	ppriate part	to make o	 ffer to. P101	, P102, P103		vith Arlene	to find Tax	ID numbers	s for parcels.	P102 - Revie		
Work Detail 8/26/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fir	nails with S	cott Werne 225.00 225.00 uments for	cke to deter					, P102, P103	- Worked v			ID numbers	s for parcels.	P102 - Revie	ewed 225.	
Work Detail 8/26/2022 Work Detail 8/29/2022	P101 - en appraisal. 3.000 P102 - Fir 1.500	75.00 75.00 nalized doc	225.00 uments for 112.50	cke to deter	 ge; reviewe 	d with Arler	e. P103 - e	dited docum		- Worked v			ID numbers	s for parcels.	P102 - Revie	ewed 225.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fir 1.500	75.00 75.00 nalized doc	225.00 uments for 112.50	IOL packag	 ge; reviewe 	d with Arler	e. P103 - e	dited docum		- Worked v			ID numbers	s for parcels.	P102 - Revie	225.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed	75.00 nalized doc	225.00 uments for 112.50 ackage; for	IOL packag	ge; reviewe _AD-DOCS	d with Arler	e. P103 - e	dited docum		- Worked v			ID numbers	s for parcels.	P102 - Revie	225.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed 2.000 P102 - W	75.00 nalized doc 75.00 its to IOL p 75.00 ent to office	225.00 uments for 112.50 ackage; for 150.00 a to review:	IOL packag	ge; reviewe	d with Arler to prepare	to send to r	dited docum	ents for IOL b	- Worked v			ID numbers	s for parcels.	P102 - Revie	225. 112.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed 2.000 P102 - W 1.500 Finalized	75.00 nalized doc 75.00 its to IOL p 75.00 ent to office	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 ge for P10:	IOL packag	ge; reviewe	d with Arler to prepare	to send to r	dited docum	ents for IOL b	- Worked v			ID numbers	s for parcels.	P102 - Revie	225	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed 2.000 P102 - W	75.00 nalized doc 75.00 its to IOL p 75.00 ent to office	225.00 uments for 112.50 ackage; for 150.00 a to review:	IOL packag	ge; reviewe	d with Arler to prepare	to send to r	dited docum	ents for IOL b	- Worked v			ID numbers	s for parcels.	P102 - Revie	225	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 6/31/2021 Work Detail 6/31/2021	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed 2.000 P102 - W 1.500 Finalized	75.00 nalized doc 75.00 its to IOL p 75.00 ent to office	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 ge for P10:	cke to deter	ge; reviewe	d with Arler to prepare	to send to r	dited docum	ents for IOL b	- Worked v			ID numbers	s for parcels.	P102 - Revie	225	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail Fotal Miller, Rhia: otal 150.000:	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed 2.000 P102 - W 1.500 Finalized 37.000	nails with S 75.00 nalized doc 75.00 its to IOL p 75.00 ent to office 75.00 offer packa	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 ge for P10: 2,775.00	IOL packag	AD-DOCS	d with Arler to prepare	to send to i	dited docum	ents for IOL b	- Worked v			ID numbers	s for parcels.	P102 - Revie	225	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail Fotal Miller, Rhia: otal 150.000: 5.101519.0000	P101 - en appraisal. 3.000 P102 - Fin 1.500 P102 - ed 2.000 P102 - W 1.500 Finalized 37.000 - FBC-SH 1	nails with S 75.00 nalized doc 75.00 its to IOL p 75.00 ent to office 75.00 offer packa	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 ge for P10: 2,775.00	IOL packag	AD-DOCS	d with Arler to prepare	to send to i	dited docum	ents for IOL b	- Worked v			ID numbers	s for parcels.	P102 - Revie	225. 112. 150. 112.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 6/31/2022 Work Detail Fotal Miller, Rhia: otal 150.000: 5.101519.0000	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed 2.000 P102 - W 1.500 Finalized 37.000 -FBC-SH	nails with S 75.00 nalized doc 75.00 its to IOL p 75.00 ent to office 75.00 offer packa	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 ge for P10: 2,775.00	cke to deter	AD-DOCS	d with Arler to prepare	to send to i	dited docum	ents for IOL b	- Worked v			ID numbers	s for parcels.	P102 - Revie	225. 112. 150. 112. 2,775. 2,775.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail Fotal Miller, Rhia: otal 150.000: 5.101519.0000	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed 2.000 P102 - W 1.500 Finalized 37.000 - FBC-SH	nails with S 75.00 nalized doc 75.00 its to IOL p 75.00 ent to office 75.00 offer packa	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 2,775.00 2,775.00 130.00 ctores ackage; for 130.00 ctores ackage; for 112.50	cke to deter	AD-DOCS Be IOL pack I to LAD-D On and Pro	to prepare	to send to i	make offer. d to make of	nents for IOL b	- Worked v	102 revisio	n Meadows	Community	/ Association	, P103 - Mea	225. 112. 150. 112. 2,775. 130.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 8/31/2022 Work Detail 6/10/10/10/10/10/10/10/10/10/10/10/10/10/	P101 - en appraisal. 3.000 P102 - Fir 1.500 P102 - ed 2.000 P102 - W 1.500 Finalized 37.000 - FBC-SH	75.00 75.00 75.00 75.00 75.00 ent to office 75.00 offer packa	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 2,775.00 2,775.00 130.00 ctores ackage; for 130.00 ctores ackage; for 112.50	cke to deter	AD-DOCS Be IOL pack I to LAD-D On and Pro	to prepare	to send to i	make offer. d to make of	nents for IOL b	- Worked v	102 revisio	n Meadows	Community	/ Association	, P103 - Mea	225. 112. 150. 112. 2,775. 2,775. 130. dows	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 8/31/2022 Work Detail 6/014 Miller, Rhia: otal 150.000: 5.101519.0000 Fucker, Sharon 8/8/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fir. 1.500 P102 - ed 2.000 P102 - W. 1.500 Finalized 37.000 37.000 - FBC-SH: 2.000 8/8/2022 Marketpla 2.000 8/10/2022	75.00 75.00 75.00 75.00 75.00 rent to office 75.00 offer packa	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00	cke to deter	AD-DOCS e IOL pack d to LAD-D on and Pro	to prepare age before OCS to pre	to send to i	make offer. d to make of	nents for IOL b	- Worked v	102 revisio	n Meadows	Community	/ Association	, P103 - Mea	225. 112. 150. 112. 2,775. 130. dows	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 70tal Miller, Rhia: 5.101519.0000 Fucker, Sharon 8/8/2022 Work Detail 8/10/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fir. 1.500 P102 - ed 2.000 P102 - W. 1.500 Finalized 37.000 37.000 - FBC-SH: 2.000 8/8/2022 Marketpla 2.000 8/10/2022	75.00 75.00 75.00 75.00 75.00 rent to office 75.00 offer packa	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 2,775.00 2,775.00 2,775.00 clear FBC g Center 130.00	cke to deter OL package warded to L and approve - Production C - idiCore a C - Printing g Center	AD-DOCS e IOL pack d to LAD-D on and Pro	to prepare age before OCS to pre	to send to interest to send to	make offer. d to make of Acquisition 101 - Rulica etters, P101	nents for IOL b	- Worked v	102 revisio	n Meadows	Community	/ Association	, P103 - Mea	225. 112. 150. 112. 2,775. 2,775. 130. dows	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 6/31/2022 Work Detail 5011519.0000 Fucker, Sharon 8/8/2022 Work Detail 8/10/2022 Work Detail 8/16/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fir. 1.500 P102 - ed 2.000 P102 - W. 1.500 Finalized 37.000 - FBC-SH: 2.000 8/8/2022 Marketpla 2.000 8/10/2022 Meadows 2.000 8/16/2022	75.00 75.00 75.00 75.00 75.00 ent to office 75.00 offer packa	225.00 uments for 112.50 ackage; for 150.00 to review: 112.50 2,775.00 2,775.00 2,775.00 2,775.00 2,775.00 Cucker - FBC 130.00 Fucker - FBC Shoppin 130.00 Fucker - FBC Cucker	rwarded to L and approve - Productio - idiCore a - C - Printing g Center - C - Researe	AD-DOCS He IOL pack To LAD-D To and Pro To and Secreta To and mailing	to prepare age before OCS to pre curement	to send to i	make offer. d to make of Acquisition 101 - Rulica etters, P101	ns-LAD Grand Parkw	- Worked v	102 revision	n Meadows	Community	/ Association	, P103 - Mea	225. 112. 150. 112. 2,775. 2,775. 130. dows 130. 33 - 130.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 150.000: 55.101519.0000 Tucker, Sharon 8/8/2022 Work Detail 8/10/2022 Work Detail 8/16/2022 Work Detail 8/16/2022 Work Detail 8/16/2022	P101 - en appraisal. 3.000 P102 - Fin 1.500 P102 - ed 2.000 P102 - W. 1.500 Finalized 37.000 FBC-SH 2.000 8/8/2022 Marketpla 2.000 8/10/2022 Meadows 2.000 8/16/2022 2.000	75.00 75.00 75.00 75.00 75.00 rent to office 75.00 offer packa 99 Phase 2 65.00 2 Sharon Ticce Shoppin 65.00 2 Sharon Marketplan 65.00 2 Sharon Marketplan 65.00 3 Sharon 65.00	225.00 uments for 112.50 ackage; for 150.00 to review. 112.50 ge for P10: 2,775.00 2,775.00 130.00 ucker - FBC g Center 130.00 fucker - FBC Shoppin 130.00 fucker - FB	cke to deter OL package warded to L and approve - Production - idiCore a C - Printing g Center C - Researe	LAD-DOCS e IOL pack d to LAD-D on and Pro and Mailin ch ownersh	to prepare age before OCS to pre curement ry of State	to send to interest to send to send to send to interest to send to interest to send to	make offer. d to make of Acquisition 101 - Rulica etters, P101 , P101, P102	ns-LAD Rulica/Grand	- Worked v	102 revisio	n Meadows	Community leadows Co	/ Association	, P103 - Mea	225. 112. 150. 112. 2,775. 2,775. 130. dows 130. 33 - 130.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 1014 Miller, Rhia: 1015 Miller, Rhia: 1015 Miller, Rhia: 1016 Miller, Rhia: 1016 Miller, Rhia: 1016 Miller, Rhia: 1017 Miller, Rhia: 1017 Miller, Rhia: 1018 Mil	P101 - en appraisal. 3.000 P102 - Fin 1.500 P102 - ed 2.000 P102 - W. 1.500 Finalized 37.000 - FBC-SH 1.2000 8/8/2022 Marketpla 2.000 8/10/2022 Meadows 2.000 8/16/2022 2.000 8/18/2022	75.00 75.00 75.00 75.00 75.00 rent to office 75.00 offer packa 99 Phase 2 65.00 2 Sharon Ticce Shoppin 65.00 2 Sharon Marketplan 65.00 2 Sharon Marketplan 65.00 3 Sharon 65.00	225.00 uments for 112.50 ackage; for 150.00 to review. 112.50 ge for P10: 2,775.00 2,775.00 130.00 ucker - FBC g Center 130.00 fucker - FBC cestoppin 130.00 fucker - FBC fucker - FBC cestoppin 130.00 fucker - FBC	cke to deter OL package warded to L and approve - Production - Production - C - Printing g Center C - Researe - C - Preparit	LAD-DOCS e IOL pack d to LAD-D on and Pro and Mailin ch ownersh	to prepare age before OCS to pre curement ry of State	to send to interest to send to send to send to interest to send to interest to send to	make offer. d to make of Acquisition 101 - Rulica etters, P101 , P101, P102	ns-LAD Grand Parkw	- Worked v	102 revisio	n Meadows	Community leadows Co	/ Association	, P103 - Mea	225. 112. 150. 150. 2,775. 2,775. 130. dows 130.	
Work Detail 8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail Total Miller, Rhia: Total 150.000: 55.101519.0000 Tucker, Sharor 8/8/2022 Work Detail 8/10/2022 Work Detail 8/16/2022 Work Detail 8/18/2022 Work Detail 8/18/2022 Work Detail 18/18/2022 Work Detail 8/18/2022 Work Detail	P101 - en appraisal. 3.000 P102 - Fin 1.500 P102 - ed 2.000 P102 - W. 1.500 Finalized 37.000 FBC-SH 2.000 8/8/2022 Marketpla 2.000 8/10/2022 Meadows 2.000 8/16/2022 2.000	75.00 75.00 75.00 75.00 75.00 rent to office 75.00 offer packa 99 Phase 2 65.00 2 Sharon Ticce Shoppin 65.00 2 Sharon Marketplan 65.00 2 Sharon Marketplan 65.00 3 Sharon 65.00	225.00 uments for 112.50 ackage; for 150.00 to review. 112.50 ge for P10: 2,775.00 2,775.00 130.00 ucker - FBC g Center 130.00 fucker - FBC Shoppin 130.00 fucker - FB	cke to deter OL package warded to L and approve - Production - Production - C - Printing g Center C - Researe - C - Preparit	LAD-DOCS e IOL pack d to LAD-D on and Pro and Mailin ch ownersh	to prepare age before OCS to pre curement ry of State	to send to interest to send to send to send to interest to send to interest to send to	make offer. d to make of Acquisition 101 - Rulica etters, P101 , P101, P102	ns-LAD Rulica/Grand	- Worked v	102 revisio	n Meadows	Community leadows Co	/ Association	, P103 - Mea	225. 112. 150. 112. 2,775. 2,775. 130. dows 130. 130.	
8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 8/31/2022 Work Detail 150.000: 15.101519.0000 Tucker, Sharon 8/8/2022 Work Detail 8/10/2022 Work Detail 8/16/2022 Work Detail 8/16/2022 Work Detail 8/16/2022	P101 - en appraisal. 3.000 P102 - Fin 1.500 P102 - ed 2.000 P102 - W. 1.500 Finalized 37.000 - FBC-SH 1.2000 8/8/2022 Marketpla 2.000 8/10/2022 Meadows 2.000 8/16/2022 2.000 8/18/2022	75.00 75.00 75.00 75.00 75.00 rent to office 75.00 offer packa 99 Phase 2 65.00 2 Sharon Ticce Shoppin 65.00 2 Sharon Marketplan 65.00 2 Sharon Marketplan 65.00 3 Sharon 65.00	225.00 uments for 112.50 ackage; for 150.00 to review. 112.50 ge for P10: 2,775.00 2,775.00 130.00 ucker - FBC g Center 130.00 fucker - FBC cestoppin 130.00 fucker - FBC fucker - FBC cestoppin 130.00 fucker - FBC	cke to deter IOL package warded to L and approve - Production C - idiCore a C - Printing g Center C - Researe C - Prepari	LAD-DOCS e IOL pack d to LAD-D on and Pro and Mailin ch ownersh	to prepare age before OCS to pre curement ry of State	to send to interest to send to send to send to interest to send to interest to send to	make offer. d to make of Acquisition 101 - Rulica etters, P101 , P101, P102	ns-LAD Rulica/Grand	- Worked v	102 revisio	n Meadows	Community leadows Co	/ Association	, P103 - Mea	225.0 112.9 150.0 112.9 2,775.0 130.0 dows	
8/26/2022 Work Detail 8/29/2022 Work Detail 8/30/2022 Work Detail 8/31/2022 Work Detail 70tal Miller, Rhia: 70tal 150.000: 70tal 150.000: 70tal 150.000: 8/8/2022 Work Detail 8/10/2022 Work Detail 8/16/2022 Work Detail 8/16/2022 Work Detail 8/18/2022 Work Detail 8/18/2022 Work Detail 70tal Tucker, Sharon:	P101 - en appraisal. 3.000 P102 - Fin 1.500 P102 - ed 2.000 P102 - W. 1.500 Finalized 37.000 - FBC-SH 9. 2.000 8/80202 Marketpla 2.000 8/10/2022 Meadows 2.000 8/16/2022 8.000	75.00 75.00 75.00 75.00 75.00 rent to office 75.00 offer packa 99 Phase 2 65.00 2 Sharon Ticce Shoppin 65.00 2 Sharon Marketplan 65.00 2 Sharon Marketplan 65.00 3 Sharon 65.00	225.00 uments for 112.50 ackage; for 150.00 e to review: 112.50 ge for P10: 2,775.00 2,775.00 2,775.00 il 0000.02 il 0000	cke to deter IOL package warded to L and approve - Production C - idiCore a - C - Printing g Center C - Researe C - Researe	LAD-DOCS e IOL pack d to LAD-D on and Pro and Mailin ch ownersh	to prepare age before OCS to pre curement ry of State	to send to interest to send to send to send to interest to send to interest to send to	make offer. d to make of Acquisition 101 - Rulica etters, P101 , P101, P102	ns-LAD Rulica/Grand	- Worked v	102 revisio	n Meadows	Community leadows Co	/ Association	, P103 - Mea	225.1 112.3 150.1 112.3 2,775.1 2,775.1 130.1 dows 130.1 130.1	



RECEIVED SED O 1 2000

Valbridge Property Advisors

Mailing Address:

Valbridge Property Advisors / Houston - Dallas 974 Campbell Road, Suite 204 Houston, TX 77024

www.valbridge.com

Invoice No. TX02-22-1218-001

PO#

Bill To:

Percheron

Arlene Kaplan

1904 W Grand Parkway N. Suite 200

Katy, TX 77449

For:

SH 99 - Parcel 102

West line of SH 99: South of S. Fry Road Katy, Texas 77494

Date: 8/25/2022

Appraiser:

JMM

	Amount
	4,500.00
TOTAL	\$4,500.00
	TOTAL

TERMS: Due on receipt

Make all checks payable to:

Valbridge Property Advisors 974 Campbell Road, Ste. 204 Houston, TX 77024

If you have any questions regarding this invoice, please contact:

Melissa Lantz vpahdl@valbridge.com 713-467-5858

Prospect: 05,/0/5/9,0000

Client: Forthand County

cription: approval

mount: \$ 4,500.00

Thank you for your business.



RECEIVED SEP 0 1 2022

Valbridge Property Advisors

Mailing Address:

Valbridge Property Advisors / Houston - Dallas 974 Campbell Road, Suite 204 Houston, TX 77024

www.valbridge.com

Invoice No. TX02-22-1218-002

PO#

Bill To:

Percheron

Arlene Kaplan

1904 W Grand Parkway N. Suite 200

Katy, TX 77449

For:

SH 99 Phase 2 - Parcel 103

Southwest corner of SH 99 and

S. Fry Road Katy, Texas 77494

Date: 8/31/2022

Appraiser:

JMM

Description		Amount
Appraisal		4,500.00
	TOTAL	\$4,500.00

TERMS: Due on receipt

Make all checks payable to:

Valbridge Property Advisors 974 Campbell Road, Ste. 204

Houston, TX 77024

SHQQ Pha Prospect: 05,101519,0000

Client: Fort Bend County

cription: appraisal

mount: \$ 4,500.00

If you have any questions regarding this invoice, please contact:

Melissa Lantz vpahdl@valbridge.com

713-467-5858

Thank you for your business.

Corporations Section P.O.Box 13697 Austin, Texas 78711-3697



John B. Scott Secretary of State

Office of the Secretary of State Packing Slip

August 8, 2022 Page 1 of 1

Attn: Percheron Holdings Percheron Holdings 1904 West Grand Parkway N Suite 200 Katy, TX 77449

Batch Number: 116795862 Batch Date: 08-08-2022

Client ID: 574633482 Return Method: Email

Client Reference: FBC Hwy 99

Document Number	Document Detail	Number / Name	Page Count	Fee
1167958620002	Find	rulica/grand		\$1.00
1167958620003	Find	Seven Meadows Community Association		\$1.00
1167958620004	Find	Seven Meadows Community Association		\$1.00
1167958620005	Find	Meadows Marketplace Shopping Center, LP	g	\$1.00
				\$4.00

Total Amount Charged to Client Account: \$4.00

(Applies to documents or orders where Client Account is the payment method)

Note to Customers Paying by Client Account: This is not a bill. Payments to your client account should be based on the monthly statement and not this packing slip. Amounts credited to your client account may be refunded upon request. Refunds (if applicable) will be processed within 10 business days.

User ID: WEBSUBSCRIBER



Project No: 05.000520.0000

Invoice No: 0336913

Due Date: October 28, 2022

PO / WO / AFE: 17314x

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total \$112.50

Project 05.000520.0000 FBC 17314x Cinco Ranch TL Professional Services from August 1, 2022 to August 31, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager	-			
Kaplan, Arlene	1.25	90.00	112.50	
Total Labor				112.50
Billing Limits	Current	Prior	To-Date	
Total Billings	112.50	28,398.16	28,510.66	
Limit			32,520.00	
Remaining			4,009.34	
		Total this	Invoice	\$112.50

	Current	Prior	Total
Labor	112.50	27,765.00	27,877.50
Expense	0.00	633.16	633.16
Totals	112.50	28,398.16	28,510.66

Project 05.000520.0000 FBC 17314x Cinco Ranch TL Invoice 0336913

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
05.000520.0000 - FBC 17	314x Cinco	Ranch TL	1000.00	- Project So	ervices 10	0.000 - Pro	ject Manag	gement							
Kaplan, Arlene	1.250	112.50													112.50
Total 100.000:	1.250	112.50													112.50
Total 1000.00:	1.250	112.50													112.50
Total 05.000520.0000:	1.250	112.50													112.50
Invoice Total:	1.250	112.50													112.50

Project 05.000520.0000 FBC 17314x Cinco Ranch TL Invoice 0336913

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Kaplan, Arlene																
8/9/2022	.500	90.00	45.00													45.00
Work Detail	Prepared '	Vendor and	d W-9 for P2	18 to upd	ate per the 0	County's req	uest. Harry	Thompson	n is working	on getting t	nem.					
8/17/2022	.250	90.00	22.50													22.50
Work Detail	Working o	n 218 need	d for forms fo	or paymen	t.											
8/18/2022	.250	90.00	22.50													22.50
Work Detail	Returned	forms for s	ignature and	I sent to Ji	llian with up	date. Hope	to have sig	ned forms b	oy Monday	or sooner						
8/31/2022	.250	90.00	22.50													22.50
Work Detail	Prepared	FedEx for	P218 check	to come to	Percheron'	s offices										
Total Kaplan, Arlene:	1.250		112.50													112.50
Invoice Total	1.250		112.50													112.50



Project No: 05.006831.0000

Invoice No: 0336916

Due Date: October 28, 2022

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total \$90.00

Project 05.006831.0000 Project# 17320x - Fry Rd Donation PO: 167428/2017 Mobility

Professional Services from August 1, 2022 to August 31, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager				
Kaplan, Arlene	1.0	90.00	90.00	
Total Labor				90.00
Billing Limits	Current	Prior	To-Date	
Total Billings	90.00	4,401.12	4,491.12	
Total Contract Amount			5,000.00	
Remaining Funds Available			508.88	

Total this Invoice \$90.00

Outstanding Invoices

Number	Date	Balance
0335553	8/15/2022	660.00
Total		660.00

	Current Invoice	Prior	Invoiced To Date
Labor	90.00	4,338.75	4,428.75
Expense	0.00	62.37	62.37
Totals	90.00	4,401.12	4,491.12

Project 05.006831.0000 FBC - 17320x - Fry Rd Donation PO: 16 Invoice 0336916

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.006831.0000 - FBC -	17320x - Fry	Rd Donatio	on PO: 16	6 0000.02 -	Production	and Proc	urement	100.000 - Pr	oject Mana	agement					
Kaplan, Arlene	1.000	90.00													90.00
Total 100.000:	1.000	90.00													90.00
Total 0000.02:	1.000	90.00													90.00
Total 05.006831.0000:	1.000	90.00													90.00
Invoice Total:	1.000	90.00						,					,		90.00

Project 05.006831.0000 FBC - 17320x - Fry Rd Donation PO: 16 Invoice 0336916

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Kaplan, Arlene																
8/4/2022	.500	90.00	45.00													45.00
Work Detail	Communic	cating sche	edule concer	ns and ne	eds; got res	ponse for KI	SD trying to	o prepare a	schedule o	f their "polic	e" needs fo	or school sta	rting with c	onstruction o	ngoing.	
8/15/2022	.500	90.00	45.00													45.00
Work Detail	Calls with manageme		and others	for assista	nce she nee	eded becaus	e school s	tarts Wedne	esday and th	nere is wet p	pavement;	she needed	to be assu	ed of its read	liness for us	se or traffic
Total Kaplan, Arlene:	1.000		90.00													90.00
Invoice Total	1.000		90.00													90.00